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Exercise 2. A bacterial culture of 20g has been cultivated, which naturally increases a
a rate of 3.5% per week.

(a) What will be the weight of the culture after 6 weeks?
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(b) How long will it take until the culture has doubled in weight?
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Exercise 3. A radio e substance dec ywl
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Exe d has lost 12% of it . How old is the wood?
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(1 point) CUNY/CityTech/CollegeAlgebra_Trig/ExponentialEquations-Calc/population-word.pg )
The population of Egypt can be modeled by the function P ri6-' ~ 4) '00 rb- ’C‘J‘l [

P(r) = 114(1 + 0.018)’ )| '~l M) ”|'m

where P(t) measures the population in millions and ¢ represents the number of years since 2000.

1. Using this model, what was the population of Egypt in 20077 D t = ?-

2. Predict the population of Egypt in 2023. [j _é, o Z 3

3. If this growth rate continues, in what year will the population of Egypt reach 2 billion people? O
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